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QUESTION 1

Refer to the Exhibit.
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An integration developer has implemented a mediation module containing the mediation flow illustrated in the Exhibit.
According to the design, if a runtime exception occurs during the invocation of the target service the module must:
?asynchronously send a status error code to a one way service ? throw an exception in order to propagate the error to
the invoking component But at runtime the developer observes that when a runtime error occurs no status error code is
received by the service even if the fail primitive is executed. What is the most likely cause of the problem?
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A. The WTransaction\\' qualifier of the W'ModuleA\\' implementation is set to \\'Global\\' while it must be set to \V'Local\\'.

B. The \WJoin transaction\\' qualifier of the \\'StatusServicelF\\' interface is set to \\'False\\' while it must be set to
\WTruell',

C. The \Join transaction\\' qualifier of the \'TargetServicelFPartner\\' interface is set to \WTrue\\' while it must be set to
\\'False\\'.

D. The WAsynchronous invocation\\' qualifier of the StatusServicelFPartner\\' reference is set to \W'Commit\\' while it must
be set to \V'Call\\'.

Correct Answer: D

QUESTION 2

An integration developer has worked with WebSphere Integration Developer V6.2 to develop several mediation flows
using custom mediation primitives as none of the available primitives were suitable. The developer has observed that in
WebSphere Integration Developer V7.0, some of the new mediation primitives would replace the need for the custom
primitives. As a result, the developer decides to move to WebSphere Integration Developer V7.0. How should the
developer proceed from the existing WebSphere Integration Developer environment to move into WebSphere
Integration Developer V7.0? From WebSphere Integration Developer V6.2, export the mediation flows artifacts via a:

A. JAR file. Import the JAR file into WebSphere Integration Developer V7.0, which will automatically migrate the project.

B. shared EAR file. Import the EAR file into WebSphere Integration Developer V7.0, which will automatically migrate the
project.

C. Project Interchange file. Then use the serviceDeploy Tool in WebSphere Integration Developer V7.0 to migrate the
project.

D. Project Interchange (PI) file. Then import the PI file into WebSphere Integration Developer V7.0, and step through the
migration wizard.

Correct Answer: D

QUESTION 3
An integration team is developing a new mediation flow.

The team has a requirement that when an error occurs at any point in any of the mediation flows, the error must be
logged and handled in the exact same fashion regardless of the point of failure.

What is the BEST way to implement this requirement within the mediation flow? Implement the error handling
mechanism:

A. using a Trace primitive to log the required information.
B. using the Message Logger primitive wired to each fail terminal.
C. as a Mediation Subflow and wire each fail terminal to this Subflow.

D. as a separate mediation module and invoke it whenever an error occurs.
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Correct Answer: A

QUESTION 4

An integration developer is designing business objects to represent a purchase order structure. The business objects
should include a PurchaseOrderHeader object and a PurchaseOrderLine object.

How should the integration developer design the relationship between the two objects to show that the
PurchaseOrderHeader owns one or more PurchaseOrderLine objects?

A. Model the PurchaseOrderLine object with a field of type PurchaseOrder and set the field\\'s minimum length to 1 and
maximum length to 1.

B. Model the PurchaseOrderLine object with a field of type PurchaseOrder and set the field\\'s minimum occurrences to
1 and maximum occurrences to 1.

C. Model the PurchaseOrderHeader object with a field of type PurchaseOrderLine and set the field\\'s minimum length
to 1 and maximum length to unbounded.

D. Model the PurchaseOrderHeader object with a field of type PurchaseOrderLine and set the field\\'s minimum
occurrences to 1 and maximum occurrences to unbounded.

Correct Answer: D

QUESTION 5

An integration developer is developing a mediation flow component using WebSphere Adapters. It is observed that the
events are being delivered by multiple threads on several channels simultaneously. What type of event delivery
mechanism is used?

A. Ordered

B. Unordered

C. Persistent

D. Non-persistent

Correct Answer: B
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